HUE = (3R 1 X&)

oJp=% =N M=
497 5.38 1 1.219 9.335 337
X 7.2 6.9 8 X 6.5 6.6
0.018 5415 8.807 9.298 2.937
X 6.6 5.1 5.7 X 6.6 7.6
3.46 2 0.56 6 5.533 7.6 1.849
X 7.6 9.2 94 x 7.1 8.6
0.856 0.883 0.968 2.556 3475
X 94 9.2 7 X 3.2 3.9
6.94 1 5,516 2.75 6.389 7.658
X 6.5 9.6 6.1 X 7.3 7.9
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STEREER B

0| E:

497 5.38 1

X 7.2 X 6.9
35.784 37.1289
0.01 8 5415

X 6.6 X 5.1
0.1188 27.6165
3.46 2 0.56 6

X 7.6 X 9.2
26.3112 5.2072
0.856 0.88 3

X 9.4 X 9.2
8.0464 8.1236
6.94 1 5516

X 6.5 X 9.6
45,1165 52.9536

1.219
X 8
9.752

8.807
X 5.7
50.1999

5533
X 9.4
52.0102

0.968
X 7
6.776

275
X 6.1
16.775
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X

X

=Rt

9.335
6.5

60.6775

9.298
6.6

61.3668

7.6

x 7.1

X

53.96

2.556
3.2

8.1792

6.38 9
7.3

46.6397

.
SEe

337
X 6.6
22.242

2937
X 7.6
22.3212

1.849
X 8.6
15.9014

3475
X 3.9
~ 13.5525

7.658
X 7.9
60.4982
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